1)

-

i

1

i

1

T

T

i

[}

il

2

|| | I - =)
[ n

Nl

T H

2

a

N

o n

Nl

nwA

uu"wud
]
I

,n

0

ua“wua
]
i

o 0

0

,n

2

] “w—ﬂ"wuﬂ"w—d i

2

la

uu“wu
]
{

TH.o

2

ja

:a“w

+103,800
ATIKA

+102,180

31.poschodie (32.NP)

+97,070

30.poschodie (31.NP)

+92,960

29.poschodie (30.NP)

+89,490

28.poschodie (29.NP)

+86,020

27.poschodie (28.NP)
+82,600

26.poschodie (27.NP)
+79,500

25.poschodie (26.NP)
+76,400

24.poschodie (25.NP)
+73,300

23.poschodie (24.NP)
470,200

22.poschodie (23.NP)
+67,100

21.poschodie (22.NP)
+64,000

20.poschodie (21.NP)
+60,900

19.poschodie (20.NP)
+57,800

18.poschodie (19.NP)
+54,700

17.poschodie (18.NP)
+51,600

16.poschodie (17.NP)
+48,500

15.poschodie (16.NP)
+45,400

14.poschodie (15.NP)
+42,300

13.poschodie (14.NP)
+39,200

12.poschodie (13.NP)
+36,100

11.poschodie (12.NP)
+33,000

10.poschodie (11.NP)
+29,900

9.poschodie (10.NP)
+26,800

8.poschodie (9.NP)
+23,700

7.poschodie (8.NP)
+20,600

6.poschodie (7.NP)
+17,500

5.poschodie (6.NP)
+14,400

4.poschodie (5.NP)
+11,300

3.poschodie (4.NP)
+8,200

2.poschodie (3.NP)

+4,250

1.poschodie (2.NP)

-0,170

prizemie (1.NP)

-4,260
podz. garaz (1.PP)
-6,980

podz. garéz (2.PP)

VYSKA ATIKY = 243,80 BPV

+0.000 = 140,00 BPV

i A

Vykres C. 09

Charatkteristicky rez AA
bez mierky


AutoCAD SHX Text
Pamiatka

AutoCAD SHX Text
Administratíva č.2


	Sheets and Views
	AA pozdĺžny


